HS Boys Points By School

Place	School	Points
1st	Northern Cass	98
2nd	GF Central JV	91
3rd	HCV	79
4th	Griggs County School	76
5th	Grafton	75
6th	Central Cass	71
7th	MPCG	66
8th	Larimore	61
9th	Hatton Northwood	39
10th	Nelson County	28
11th	Midway Minto	20
12th	Thompson	11
13th	Langdon	0
13th	Oak Grove	0

Completed Events				
100 M Dash	200 M Dash	400 M Dash		
800 M Run	1600 M Run	3200 M Run		
4 x 100 (400 M) Relay 4 x 200 (800 M) Relay 4 x 400 (1600 M) Relay				
4 x 800 (3200 M) Relay	110 M Hurdles	300 M Hurdles		
Long Jump	Shot Put	Discus		
Triple Jump Javelin		High Jump		
Pole Vault	Pole Vault			

Incomplete Events	
All events are complete	

Saturday, April 26, 2014

Meet Results By Division HS Boys

100 M Dash

School

Central Cass

Northern Cass

Northern Cass

Griggs County...

MPCG

HCV

Grafton

Grafton

Contestant

Adam Breske

Bennie Bradner

TJ Hochstetler

Brian Schreiner

Nick Muncy

Dylan Daboura

Jose Martinez

Shandon Toenies

Place

1st

2nd

3rd

4th

5th

6th

7th

8th

Time 11.20 11.27 11.40 11.47 11.50 11.54 11.61

11.62

800 M Run

Place	Contestant	School	Time
1st	Nick Pederson	Hatton Northw	2:14.53
2nd	Austin Rust	Central Cass	2:15.16
3rd	lan Kelly	GF Central JV	2:25.15
4th	Adam Diedrich	Thompson	2:25.21
5th	Adam Barclay	Midway Minto	2:25.52
6th	Jake Nepstad	MPCG	2:27.45
7th	Dylan Donohue	Nelson County	2:28.00
8th	Richie Osborn	GF Central JV	2:28.31

200 M Dash

Place	Contestant	School	Time
1st	Bennie Bradner	MPCG	22.46
2nd	Adam Breske	Central Cass	22.63
3rd	Brian Schreiner	Northern Cass	23.36
4th	Shandon Toenies	HCV	23.43
5th	Brandon Bohmert	Northern Cass	23.61
6th	Adam Schreiner	Northern Cass	25.19
7th	Jared Dullum	Northern Cass	25.30
8th	Garrett Williams	Northern Cass	25.54

1600 M Run

Place	Contestant	School	Time
1st	Josh Thompson	Grafton	4:51.65
2nd	David Hettich	GF Central JV	4:54.53
3rd	Nick Pederson	Hatton Northw	4:56.68
4th	Kyle Kaufman	HCV	5:04.15
5th	Richie Osborn	GF Central JV	5:23.33
6th	Ryan Larson	Larimore	5:25.96
7th	Walker Matthew	GF Central JV	5:30.47
8th	Ben Mueller	HCV	5:31.12

400 M Dash

Place	Contestant	School	Time
1st	Shandon Toenies	HCV	54.93
2nd	Mikey Nilles	HCV	55.64
3rd	Adam Diedrich	Thompson	56.96
4th	Austin Rust	Central Cass	57.38
5th	Joe Hoff	Northern Cass	57.45
6th	Dylan Donohue	Nelson County	58.23
7th	Kyle O' Brien	MPCG	58.66
8th	Blake Hoyt	Nelson County	1:01.31

3200 M Run

Place	Contestant	School	Time
1st	David Hettich	GF Central JV	11:00.48
2nd	Austin Smith	HCV	11:11.74
3rd	Tristian Nelson	MPCG	12:39.80
4th	Justin Holkesvig	Hatton Northw	13:02.31
5th	Kody Pastian	HCV	13:02.77
6th	Rylan Myron	Hatton Northw	13:05.67
7th	Ryan Keogh	GF Central JV	13:06.74
8th	Gavin Longthorne	HCV	14:23.12

Saturday, April 26, 2014

Meet Results By Division HS Boys (Continued...)

4 x 100 (400 M) Relay

4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Jose Martinez Austin Contreras Brody Nelson Dylan Daboura	Grafton	46.34
2nd	Hunter Olson Taylor Ellefson Parker Paintner Nick Muncy	Griggs County	47.15
3rd	Brant Bohmert Adam Schreiner Brandon Bohmert Brian Schreiner	Northern Cass	48.70
4th	Matt Miranda Jun Kim Darian Colgrove Austin Hoffman	GF Central JV	50.39
5th	Adrian Carrillo Jamie Gorres Jaden Bachmeier Dean Ott	Hatton Northw	52.06

Place	Contestants	School	Time
1 1000	Contestants	0011001	Tillio
1st	Taylor Ellefson Parker Paintner Hunter Olson Nick Muncy	Griggs County	3:49.74
2nd	Alex Mutch Thomas Gregoire Aaron Sletten Jake Peterson	Larimore	4:02.27
3rd	Matt Miranda Andrew Arnold Jun Kim GC#16	GF Central JV	4:14.50
4th	Rylee Groth Kyle O' Brien Zach Osier Nathan Erickson	MPCG	4:39.18
5th	Aiden Robberstad Devin Flanders John Juarez Logan Misialek	Midway Minto	4:43.61

4 x 200 (800 M) Relay

4 x 800 (3200 M) Relay

Place	Contestants	School	Time
1st	Austin Contreras Dylan Daboura Brody Nelson Jose Martinez	Grafton	1:37.80
2nd	Hunter Olson Taylor Ellefson Parker Paintner Nick Muncy	Griggs County	1:38.89
3rd	Quentin Johns Alex Otto Dylan Donohue Bobby Hoahr	Nelson County	1:42.42
4th	Andrew Arnold Jun Kim Darian Colgrove Matt Miranda	GF Central JV	1:48.03
5th	Rylee Groth McLain Paulson Griffen Schafer Marc Eastman	MPCG	1:50.54
6th	Jimmy Burnett Aiden Robberstad Logan Misialek John Juarez	Midway Minto	1:58.18

Place	Contestants	School	Time
1st	Shandon Toenies Austin Smith Mikey Nilles Kyle Kaufman	HCV	9:17.00
2nd	Jake Nepstad Tristian Nelson Austin Knudson Kyle O' Brien	MPCG	9:47.00
3rd	Cedric Reese lan Kelly Jun Kim Zach Nelson	GF Central JV	9:52.47
4th	MM#1 MM#2 MM#3 MM#4	Midway Minto	9:52.80

110 M Hurdles

Place	Contestant	School	Time
1st	TJ Hochstetler	Northern Cass	15.09
2nd	Dylan Daboura	Grafton	15.24
3rd	Jared Dullum	Northern Cass	17.89
4th	Austin Hoffman	GF Central JV	17.92
5th	Darian Colgrove	GF Central JV	18.73
6th	Andrew Arnold	GF Central JV	19.08
7th	Ben Dryburgh	HCV	20.80
8th	Zach Jacobson	Griggs County	21.80

Saturday, April 26, 2014

Meet Results By Division HS Boys (Continued...)

300 M Hurdles

School

Hatton Northw... GF Central JV

GF Central JV

GF Central JV

GF Central JV

Grafton

HCV

MPCG

Contestant

Josh Thompson

Nick Pederson

Austin Hoffman

Andrew Arnold Ben Dryburgh

Darian Colgrove

Austin Knudson

Matt Miranda

Place

1st

2nd

3rd

4th

5th

6th

7th

8th

Time	
44.33	
45.33	
45.87	
48.33	
48.55	
48.94	
51.27	
52.33	

Discus

Place	Contestant	School	Distance
1st	Justin Hanson	Griggs County	127'-3"
2nd	Brady Siebles	HCV	122'-3"
3rd	Wyatt Schultz	HCV	117'-10"
4th	Austin Mensing	Central Cass	110'-4"
5th	Cole Phillips	Northern Cass	109'-8"
6th	Jesse Quittschreiber	Northern Cass	105'-8"
7th	Devin Roesler	Central Cass	103'-1"
8th	Andy Haugen	Griggs County	98'-5"

Long Jump

Place	Contestant	School	Distance
1st	Jake Peterson	Larimore	19'-3 1/2"
2nd	Adam Breske	Central Cass	19'-1"
3rd	Brody Nelson	Grafton	18'-6 1/2"
4th	Bobby Hoahr	Nelson County	18'-6"
5th	TJ Hochstetler	Northern Cass	18'-4 1/2"
6th	Brandon Bohmert	Northern Cass	17'-10 1/2"
7th	Jon Jones	Central Cass	17'-6 1/2"
8th	Jake Nepstad	MPCG	17'-0 1/2"

Triple Jump

Place	Contestant	School	Distance
1st	Brody Nelson	Grafton	38'-5"
2nd	Parker Paintner	Griggs County	38'-2 1/2"
3rd	Seth Adkins	Northern Cass	36'-11"
4th	Dillion Haines	Central Cass	36'-1"
5th	Bobby Hoahr	Nelson County	35'-7 1/2"
6th	Joey Prince	GF Central JV	34'-8 1/2"
7th	Jon Jones	Central Cass	33'-7 3/4"
8th	Brody Wagner	Larimore	33'-7 1/2"

Shot Put

Place	Contestant	School	Distance
1st	Justin Hanson	Griggs County	46'-10"
2nd	Cole Phillips	Northern Cass	42'-1"
3rd	Dylan Beck	Northern Cass	41'-3"
4th	Wesley Odegaard	Griggs County	41'-2"
5th	Andy Haugen	Griggs County	40'-0"
6th	Brandon Molina	Larimore	39'-11"
7th	Steven Eberhardt	Griggs County	39'-11"
8th	Hunter Olson	Griggs County	39'-2"

Javelin

Place	Contestant	School	Distance
1st	Aaron Sletten	Larimore	162'-0"
2nd	Zach Hernandez	Grafton	142'-5"
3rd	Zach Osier	MPCG	128'-9"
4th	Jake Peterson	Larimore	125'-6"
5th	Jake Riske	Midway Minto	124'-11"
6th	Brandon Bohmert	Northern Cass	118'-2"
7th	Dane Ott	Hatton Northw	107'-4"
8th	McLain Paulson	MPCG	100'-8"

Saturday, April 26, 2014

Meet Results By Division HS Boys (Continued...)

High Jump

Place	Contestant	School	Height
1st	Dillion Haines	Central Cass	5'-10"
2nd	Seth Adkins	Northern Cass	5'-10"
3rd	Jacob Dooley	Central Cass	5'-6"
4th	Alex Otto	Nelson County	5'-2"
5th	Jake Nepstad	MPCG	5'-2"
6th	Gavin Longthorne	HCV	5'-0"
7th	Bobby Hoahr	Nelson County	5'-0"
8th	Jamie Gorres	Hatton Northw	4'-10"

Pole Vault

Place	Contestant	School	Height
1st	Jake Peterson	Larimore	12'-6"
2nd	Alex Mutch	Larimore	12'-0"
3rd	Thomas Devine	GF Central JV	11'-0"
4th	Evan Trostad	Griggs County	7'-6"
5th	Kyle O' Brien	MPCG	7'-6"
6th	Thomas Gregoire	Larimore	7'-0"
7th	Toby Sheets	MPCG	6'-6"

HS Girls Points By School

Place	School	Points
1st	HCV	205
2nd	Thompson	91
3rd	Larimore	89
4th	MPCG	53
5th	Northern Cass	51
6th	Griggs County School	47
7th	Central Cass	25
8th	Hatton Northwood	20
9th	Nelson County	12
10th	Midway Minto	4
11th	GF Central JV	0
11th	Langdon	0
11th	Grafton	0
11th	Oak Grove	0

Completed Events		
100 M Dash	200 M Dash	400 M Dash
800 M Run	1600 M Run	3200 M Run
4 x 100 (400 M) Relay	4 x 200 (800 M) Relay	4 x 400 (1600 M) Relay
4 x 800 (3200 M) Relay	100 M Hurdles	300 M Hurdles
Long Jump	Shot Put	Discus
Triple Jump	Javelin	High Jump
Pole Vault		

Incom	plete Events
All even	nts are complete

Saturday, April 26, 2014

Meet Results By Division HS Girls

100 M Dash

Place	Contestant	School	Time
1st	Rachel Dryburgh	HCV	12.40
2nd	Gabby Grommesh	Central Cass	12.49
3rd	Cheyenne Hanson	Northern Cass	12.97
4th	Lindsay Hegg	Thompson	13.17
5th	Jocelyn Ackerman	HCV	13.82
6th	Sydney Grommesh	Central Cass	13.86
7th	Anna Bradner	MPCG	13.87
8th	Madison Wallace	Griggs County	13.95

800 M Run

Place	Contestant	School	Time
1st	Gracie Wright	HCV	2:33.43
2nd	Cailee Peterson	MPCG	2:36.53
3rd	Shayla Fossum	HCV	2:40.04
4th	Katie Berge	Larimore	2:43.15
5th	Kati Ambler	Nelson County	2:46.36
6th	Bailey Baesler	HCV	2:49.72
7th	Carlyne Murray	Northern Cass	2:57.55
8th	Danika Flanders	Midway Minto	3:05.62

200 M Dash

Place	Contestant	School	Time
1st	Cheyenne Hanson	Northern Cass	27.13
2nd	Lindsay Hegg	Thompson	27.79
3rd	Gracie Wright	HCV	27.89
4th	Annika Rotvold	HCV	28.49
5th	Jocelyn Ackerman	HCV	28.62
6th	Megan Bohlman	Thompson	28.94
7th	Holly Grandalen	MPCG	29.09
8th	Anna Bradner	MPCG	29.20

1600 M Run

Contestant	School	Time
Cailee Peterson	MPCG	5:35.12
Ashley Perez	Nelson County	5:43.51
Bailey Baesler	HCV	6:12.99
Taylor Becker	Northern Cass	6:33.96
Carlyne Murray	Northern Cass	6:35.89
Danika Flanders	Midway Minto	6:55.90
Mia Pederson	Hatton Northw	7:23.34
	Cailee Peterson Ashley Perez Bailey Baesler Taylor Becker Carlyne Murray Danika Flanders	Cailee Peterson MPCG Ashley Perez Nelson County Bailey Baesler HCV Taylor Becker Northern Cass Carlyne Murray Northern Cass Danika Flanders Midway Minto

400 M Dash

Place	Contestant	School	Time
1st	Shaice Marx	Thompson	1:02.28
2nd	Izzy Shirek	Thompson	1:02.97
3rd	Annika Rotvold	HCV	1:03.96
4th	Gabby Grommesh	Central Cass	1:04.73
5th	Holly Grandalen	MPCG	1:06.89
6th	Lindsay Hegg	Thompson	1:07.17
7th	Shaylee Moses	Thompson	1:08.73
8th	Payton Kritzberger	HCV	1:09.06

3200 M Run

Place	Contestant	School	Time
1st	Mariah Fossum	HCV	14:19.02

4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	Adrianna Delvo Kristin Wright Katie Sobolik Hannah Thompson	HCV	1:00.91
2nd	Kallie Kressin Maddie Johnson Mackenzie Meidinger Whitney Morten	Larimore	58:07.00

Saturday, April 26, 2014

Meet Results By Division HS Girls (Continued...)

4 x 200 (800 M) Relay

Place	Contestants	School	Time
1st	Abbie Beck Holly Grandalen Anna Bradner Julie Neset	MPCG	2:02.02
2nd	Whitney Morten Maddie Johnson Katie Berge Lily Hendrickson	Larimore	2:03.79
3rd	Kristin Wright Jocelyn Ackerman Katelyn Kennedy Katie Sobolik	HCV	2:04.47

4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Addi Jo Eckart Rachel Dryburgh Jocelyn Ackerman Tatiana Berge	HCV	4:28.57
2nd	Holly Grandalen Anna Bradner Abbie Beck Cailee Peterson	MPCG	4:41.49
3rd	Maddie Johnson Lily Hendrickson Whitney Morten Katie Berge	Larimore	4:48.30
4th	Emmee Gronneberg Madison Wallace Alicia McCardle Larissa Feiring	Griggs County	5:13.33

4 x 800 (3200 M) Relay

Place	Contestants	School	Time
1st	Katja Berge Tatiana Berge Gracie Wright Shayla Fossum	HCV	10:15.00
2nd	Emmee Gronneberg Madison Wallace Alicia McCardle Larissa Feiring	Griggs County	12:47.38
3rd	Mary Gorman Emily Pulford Hannah Solseng Deanna Piatz	Larimore	13:10.45

100 M Hurdles

Place	Contestant	School	Time
1st	Rachel Dryburgh	HCV	16.83
2nd	Kallie Kressin	Larimore	17.09
3rd	Addi Jo Eckart	HCV	18.25
4th	Julie Neset	MPCG	19.40
5th	Madison Wallace	Griggs County	20.34
6th	Harley Tandberg	Hatton Northw	20.73
7th	Larissa Feiring	Griggs County	24.38

300 M Hurdles

Place	Contestant	School	Time
1st	Rachel Dryburgh	HCV	47.35
2nd	Shaice Marx	Thompson	48.82
3rd	Kallie Kressin	Larimore	52.01
4th	Lily Hendrickson	Larimore	53.32
5th	Addi Jo Eckart	HCV	54.71

Long Jump

Place	Contestant	School	Distance
1st	Kylie Pastian	HCV	16'-11 1/2"
2nd	Payton Kritzberger	HCV	15'-5 1/2"
3rd	Sydney Grommesh	Central Cass	14'-0 1/2"
4th	Megan Bohlman	Thompson	13'-7 1/2"
5th	Mia Pederson	Hatton Northw	13'-7 1/2"
6th	Paige Stroh	Central Cass	13'-5 1/2"
7th	Hallen Heyerman	Northern Cass	13'-3"
8th	Cailee Peterson	MPCG	12'-5 1/2"

Shot Put

Place	Contestant	School	Distance
1st	Amber Hunsaker	Thompson	31'-10"
2nd	Felicia Gerszewski	Larimore	31'-9"
3rd	Devon Urness	Griggs County	31'-4"
4th	Cassie Hilde	Northern Cass	31'-1"
5th	Alicia Loiland	Thompson	29'-11"
6th	Megan Haugen	Griggs County	29'-9"
7th	Erryn Egeland	Thompson	29'-6"
8th	Jenna Johnson	Larimore	28'-10"

Saturday, April 26, 2014

Meet Results By Division HS Girls (Continued...)

Discus

Place	Contestant	School	Distance
1st	Devon Urness	Griggs County	107'-11"
2nd	Nicole Heintz	HCV	107'-2"
3rd	Amber Hunsaker	Thompson	102'-7"
4th	Cassie Hilde	Northern Cass	91'-5"
5th	Felicia Gerszewski	Larimore	91'-0"
6th	Jenna Wentz	Larimore	89'-4"
7th	Noelle Cutshaw	HCV	89'-3"
8th	Jenna Johnson	Larimore	85'-8 1/2"

Triple Jump

Place	Contestant	School	Distance
1st	Katja Berge	HCV	31'-7"
2nd	Payton Kritzberger	HCV	29'-1 1/4"
3rd	Sophie Hollister	Northern Cass	24'-8"
4th	Mia Pederson	Hatton Northw	24'-6 1/2"

Javelin

Place	Contestant	School	Distance
1st	Amber Hunsaker	Thompson	98'-3"
2nd	Shaylee Andel	Griggs County	97'-11"
3rd	Courtney Douglas	Hatton Northw	81'-0"
4th	Noelle Cutshaw	HCV	77'-2"
5th	Alicia Loiland	Thompson	71'-11"
6th	Kailen Dolleslager	Thompson	65'-3"
7th	Sabrina Amundson	MPCG	65'-0"
8th	Ryley Kritzberger	HCV	55'-4"

High Jump

Place	Contestant	School	Height
1st	Mackenzie Meiding	Larimore	4'-5"
2nd	Katja Berge	HCV	4'-3"
3rd	Anna Ellenson	Northern Cass	4'-1"

Pole Vault

Place	Contestant	School	Height
1st	Mackenzie Meiding	Larimore	7'-0"
2nd	Addi Jo Eckart	HCV	6'-6"

JH Boys Points By School

Place	School	Points
1st	MPCG	130
2nd	Northern Cass	82
3rd	Midway Minto	60
4th	Larimore	56
5th	Thompson	45
6th	Grafton	37
7th	Griggs County School	36
8th	Nelson County	27
9th	GF Central JV	0
9th	Central Cass	0
9th	Hatton Northwood	0
9th	Langdon	0
9th	Oak Grove	0
9th	HCV	0

Completed Events			
100 M Dash	200 M Dash	400 M Dash	
800 M Run	1600 M Run	4 x 100 (400 M) Relay	
4 x 200 (800 M) Relay	4 x 400 (1600 M) Relay	110 M Hurdles	
Long Jump	Shot Put	Discus	
Triple Jump	High Jump	Pole Vault	
200m Hurdles			

Incomplete Events	
All events are complete	

Saturday, April 26, 2014

Meet Results By Division JH Boys

100 M Dash

Place	Contestant	School	Time
1st	Caleb Sell	Northern Cass	12.80
2nd	Nick Rexine	MPCG	12.95
3rd	Alejandro Navarro	Grafton	12.96
4th	Max Seely	Northern Cass	13.08
5th	John Juarez	Midway Minto	13.34
6th	Jack Zorn	Griggs County	14.00
7th	Brandon Hoff	Northern Cass	14.09
8th	Baley Cole	Larimore	14.28

800 M Run

Place	Contestant	School	Time
1st	Alex Henton	Griggs County	2:31.41
2nd	Baley Cole	Larimore	2:50.53
3rd	Carson Herbert	Thompson	2:51.82
4th	Logan Olson	Thompson	2:56.46
5th	Rylee Thompson	MPCG	2:57.92
6th	Austin Steffan	Larimore	2:59.62
7th	Jason Dombrowski	Midway Minto	3:00.00
8th	Karter Brandenbur	Larimore	3:01.18

200 M Dash

Place	Contestant	School	Time
1st	Nick Rexine	MPCG	26.09
2nd	Caleb Sell	Northern Cass	26.32
3rd	Max Seely	Northern Cass	27.00
4th	Brandon Hoff	Northern Cass	27.75
5th	Jack Zorn	Griggs County	28.96
6th	Austin Thompson	Grafton	29.01
7th	Alex Key	Midway Minto	29.63
8th	Jason Dombrowski	Midway Minto	29.88

1600 M Run

Place	Contestant	School	Time
1st	Alex Henton	Griggs County	5:23.12
2nd	Jake Leininger	Nelson County	6:06.61
3rd	Carson Herbert	Thompson	6:12.66
4th	Logan Olson	Thompson	6:13.11
5th	Jason Dombrowski	Midway Minto	6:47.32
6th	Nolan Brayton	Northern Cass	6:49.40
7th	Jakob Dunula	Midway Minto	7:17.07

400 M Dash

Place	Contestant	School	Time
1st	Alejandro Navarro	Grafton	1:03.81
2nd	Austin Thompson	Grafton	1:06.08
3rd	Jamie Klava	Larimore	1:11.25
4th	Alan Gilbertson	Nelson County	1:11.27
5th	Tommy Gorritzkis	Midway Minto	1:12.36
6th	Karter Brandenbur	Larimore	1:13.89
7th	Kole Ranisate	Larimore	1:15.06
8th	Dayton Miles	Nelson County	1:18.58

4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	Brandon Hoff Caleb Sell Thomas Metzger Max Seely	Northern Cass	53.30
2nd	Nick Rexine Ryan Klath Simon Barker Ben Berdal	MPCG	55.44
3rd	Daphne Kenninger Alex Henton Isaac Smith Jack Zorn	Griggs County	56.40

4 x 200 (800 M) Relay

Place	Contestants	School	Time
1st	Baley Cole Ethan Moore Kole Ranisate Jamie Klava	Larimore	2:07.38

Saturday, April 26, 2014

Meet Results By Division JH Boys (Continued...)

4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Nick Rexine Ben Berdal Konnor Elliot Ryan Klath	MPCG	4:46.23
2nd	Jakob Dunula Tommy Gorritzkis Jason Dombrowski Ramon Rodriquez	Midway Minto	5:20.48

110 M Hurdles

Place	Contestant	School	Time
1st	Rylee Thompson	MPCG	22.20
2nd	Ben Berdal	MPCG	23.10
3rd	Byron Adolpho	MPCG	25.63
4th	Braydon Prater	MPCG	25.96
5th	Seth Germundson	MPCG	29.10

Long Jump

Place	Contestant	School	Distance
1st	Caleb Sell	Northern Cass	14'-10"
2nd	John Juarez	Midway Minto	14'-10"
3rd	Max Seely	Northern Cass	13'-11 1/2"
4th	Ryan Klath	MPCG	13'-8 1/2"
5th	Jamie Klava	Larimore	13'-0 1/2"
6th	Daniel Hefta	MPCG	12'-11"
7th	Jake Leininger	Nelson County	12'-10 1/2"
8th	Alan Gilbertson	Nelson County	12'-7 1/2"

Shot Put

Place	Contestant	School	Distance
1st	Alex Key	Midway Minto	31'-4"
2nd	Jacob Thomsen	Thompson	26'-7"
3rd	Thomas Metzger	Northern Cass	26'-4"
4th	Erik Argall	Thompson	26'-2"
5th	Wyatt Stennes	MPCG	25'-0"
6th	Logan Raney	Thompson	24'-5"
7th	Casey Anderson	Midway Minto	23'-11"
8th	Teylor Hanson	Griggs County	23'-5"

Discus

Place	Contestant	School	Distance
1st	Thomas Metzger	Northern Cass	93'-1"
2nd	Alex Key	Midway Minto	92'-2"
3rd	Wyatt Stennes	MPCG	83'-4"
4th	Casey Anderson	Midway Minto	81'-8"
5th	Erik Argall	Thompson	68'-8"
6th	Logan Raney	Thompson	61'-2"
7th	Teylor Hanson	Griggs County	59'-1"
8th	Hayden Rostvet	Northern Cass	58'-10"

Triple Jump

Place	Contestant	School	Distance
1st	Jake Leininger	Nelson County	27'-1"

High Jump

Place	Contestant	School	Height
1st	Ryan Klath	MPCG	4'-6"

Pole Vault

Place	Contestant	School	Height
1st	Austin Thompson	Grafton	6'-6"
2nd	Konnor Elliot	MPCG	6'-6"
3rd	Karter Brandenbur	Larimore	6'-0"
4th	Ben Berdal	MPCG	6'-0"
5th	Austin Steffan	Larimore	5'-6"

200m Hurdles

Place	Contestant	School	Time
1st	Rylee Thompson	MPCG	36.03
2nd	Karter Brandenbur	Larimore	36.46
3rd	Seth Germundson	MPCG	39.89

JH Girls Points By School

Place	School	Points
1st	MPCG	126
2nd	Grafton	67
3rd	Northern Cass	66
4th	Nelson County	46
5th	Larimore	45
6th	Thompson	42
7th	Griggs County School	38
8th	Midway Minto	21
9th	GF Central JV	0
9th	Central Cass	0
9th	Hatton Northwood	0
9th	Langdon	0
9th	Oak Grove	0
9th	HCV	0

Completed Events			
100 M Dash 200 M Dash 400 M Dash			
800 M Run	4 x 100 (400 M) Relay		
4 x 200 (800 M) Relay	100 M Hurdles		
Long Jump Shot Put		Discus	
High Jump 200m Hurdles			

Incomplete Events	
All events are complete	

Saturday, April 26, 2014

Meet Results By Division JH Girls

100 M Dash

Place	Contestant	School	Time
1st	Amiya Malone	Grafton	14.04
2nd	Taylyn Thompson	MPCG	14.63
3rd	Jayme Osier	MPCG	14.71
4th	Daphne Kenninger	Griggs County	14.75
5th	Amanda Vogsland	Midway Minto	15.01
6th	Jada Nygaard	MPCG	15.13
7th	Shannon Perez	Grafton	15.17
8th	Madison Knudsvig	MPCG	15.21

800 M Run

Place	Contestant	School	Time
1st	Payton Johnson	Northern Cass	2:52.15
2nd	Kenzie Wika	Northern Cass	2:54.94
3rd	Breanna Schmidt	Nelson County	3:04.09
4th	Haley Verkuehlen	Larimore	3:05.40
5th	Lana Krack	Thompson	3:06.26
6th	Reagan Applegren	Thompson	3:09.00
7th	Destany Dominguez	Grafton	3:14.92
8th	Anne Mager	Thompson	3:18.53

200 M Dash

Place	Contestant	School	Time
1st	Amiya Malone	Grafton	30.36
2nd	Jayme Osier	MPCG	31.24
3rd	Hailey Verkelin	Larimore	31.93
4th	Daphne Kenninger	Griggs County	32.79
5th	Amanda Vogsland	Midway Minto	33.34
6th	Shannon Perez	Grafton	34.03
7th	Destany Dominguez	Grafton	34.48
8th	Karlie Zachz	Nelson County	35.35

1600 M Run

Place	Contestant	School	Time
1st	Kenzie Wika	Northern Cass	6:13.66
2nd	Lana Krack	Thompson	6:33.97
3rd	Reagan Applegren	Thompson	6:51.16
4th	Anne Mager	Thompson	7:07.08
5th	Morgan Hovde	Midway Minto	7:35.68
6th	Lili Robinson	Midway Minto	7:37.56
7th	Grace Taylor	Thompson	8:04.39

400 M Dash

Place	Contestant	School	Time
1st	Taylyn Thompson	MPCG	1:12.43
2nd	Breanna Schmidt	Nelson County	1:12.96
3rd	Amanda Vogsland	Midway Minto	1:17.27
4th	Shannon Perez	Grafton	1:17.88
5th	Destany Dominguez	Grafton	1:18.75
6th	Karlie Zachz	Nelson County	1:23.86
7th	Daphne Kenninger	Griggs County	1:27.81

4 x 100 (400 M) Relay

Place	Contestants	School	Time
1st	Jada Nygaard Shelby Sedivec Amy Anderson Jayme Osier	MPCG	1:05.57
2nd	Cassie Monson Gr#6 Gr#7 Gr#8	Grafton	1:08.80
3rd	Catherine Haugland Courtney Stein Paige Haakenson Allison Halverson	Nelson County	1:08.95

4 x 200 (800 M) Relay

Place	Contestants	School	Time
1st	Gr#1 Gr#2 Gr#3 Gr#4	Grafton	2:24.62

Saturday, April 26, 2014

Meet Results By Division JH Girls (Continued...)

4 x 400 (1600 M) Relay

Place	Contestants	School	Time
1st	Breanna Schmidt Karlie Zachz Paige Haakenson Allison Halverson	Nelson County	5:32.73
2nd	Lana Krack Reagan Applegren Grace Taylor Anne Mager	Thompson	5:45.46

100 M Hurdles

Place	Contestant	School	Time
1st	Payton Johnson	Northern Cass	17.97
2nd	Taylyn Thompson	MPCG	21.01
3rd	Grace Wagner	Northern Cass	21.70
4th	Julia Kohls	MPCG	23.09
5th	Grace Lovro	MPCG	23.34
6th	Amy Anderson	MPCG	24.83

Long Jump

Place	Contestant	School	Distance
1st	Jada Nygaard	MPCG	11'-4"
2nd	Haley Verkuehlen	Larimore	11'-4"
3rd	Shelby Sedivec	MPCG	11'-0 1/2"
4th	Julia Kohls	MPCG	10'-7"
5th	Taylor Nelson	MPCG	10'-1 1/2"
6th	Kayla Anderson	MPCG	10'-1"
7th	Amy Anderson	MPCG	9'-10 1/2"
8th	Hailey Narloch	Grafton	8'-11"

Shot Put

Place	Contestant	School	Distance
1st	Joelle Sherlock	Griggs County	31'-4"
2nd	Sloan Smith	Larimore	30'-7"
3rd	Erin Haugen	Griggs County	29'-3"
4th	Paige Haakenson	Nelson County	28'-6"
5th	Korri Gust	Larimore	27'-0"
6th	Chelbi Coran	MPCG	25'-11"
7th	Sara Larson	Thompson	24'-8"
8th	Courtney Stein	Nelson County	23'-8"

Discus

Place	Contestant	School	Distance
1st	Joelle Sherlock	Griggs County	85'-2"
2nd	Korri Gust	Larimore	72'-6"
3rd	Sloan Smith	Larimore	71'-8"
4th	Rachel Avdem	Nelson County	69'-2"
5th	Jackie White	MPCG	66'-8"
6th	Sara Larson	Thompson	66'-4"
7th	Chelbi Coran	MPCG	59'-1"
8th	Paige Haakenson	Nelson County	59'-0"

High Jump

Place	Contestant	School	Height
1st	Amanda Erickson	Grafton	4'-4"
2nd	Grace Wagner	Northern Cass	3'-10"
3rd	Julia Kohls	MPCG	3'-10"
4th	Taylor Nelson	MPCG	3'-8"

200m Hurdles

Place	Contestant	School	Time
1st	Taylyn Thompson	MPCG	35.42
2nd	Payton Johnson	Northern Cass	35.77
3rd	Grace Wagner	Northern Cass	40.67